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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figares to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. €Ml SIEURL Ulcloll arelol AL
What is Optimization?

WNZIHISA U, 2i2d 97?

What is Break Even Point?

ol o, Uiz 9 87

What do you mean by Salvage value and scrap value?
A¥ BloLR [SHA wied qiolR [Hd 2aRL 4 AHsyi 917

What is Depreciation?

WAHEA Y 97

Write types of flow diagrams

5EL SPUWM AL USIR dvl,

What is specification sheet?

U550 Uty 9 &7

List out various method of plant layout

walez d2iGedl [Alas uehlazidl 4ig) si-nal.

List out component of total product cost
58 Geule vzl 92sidl £l stelal,

List out methods of profitability
A5151R5elL ll Uttt dliicdl A€l maal.

List out factor affecting plant location
@iz disslad 2HUR 52l URlH Al 4] sl

“It is advisable to select standard equipment wherever possible”-Justify.
o5 ld Al YL NHIEAGA AHA UL SRAL HIZ UALS WUAME 209 9" UHAA,
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Discuss batch processing with example
GelwRil WA 62 Wl 2 i
Discuss principles of piping layout
woior duuGedl Rigsididl a0l si.

OR
Discuss continuous processing with example

2lsRlL A [ARaz wlsndl 2z .

State types of cost indexes

Bl5-85 el A2l A1 5.

OR

Discuss Break-even chart

Explain any one cost index
5165 URL Bls 5122 He3s HHMAl

OR
Explain methods of plant layout.

wle2 duGenee UEH[ADl UHMA €.

What is Pilot plant ?
uHele iz vi2d 3?

OR
Discuss types of insulation.

Hedilddl wsiRidl A 5.

Discuss about causes of depreciation
MAREA, AL 512011 [A2] A2 520

OR

Discuss pipe strength and wall thickness.

WAL HEolAls 2iel (Bl 23154] 2241 53U

Describe process evolution stages and their importance
L Gesildel dsissl 2 dHedl Higed of bl .
OR
Discuss methods for determining depreciation.
MAREA As] 529 W2 Ughdaildl 2L K.

Write a short note on various types of flow diagrams.
(A8 Usleel 56l SUM YR E51 <LIH @uil
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(d)
(s)

Q4 (a)
ya. y ()

(a)
(A)
(b)
(o)
(b)
(o)

(c)

(8)

Q.5 (a)

yd.u ()

(a)

(1)

OR
Write a short note on Working capital investment
S1ASIRL %l 1L UR 251 AlY Qvil

Discuss Chemical engineering design
ssa Sordzl Sl il w50

OR

Discuss Plant design and its relation to sales.

L2 (S8 2 dell deL A1 doisAl 2L i

Discuss technical factors to be considered in plant design
@iz ol HI2 2slasa usiuidl ==l s,

OR

Write a short hote on specification sheets
(Al [Bodatq sy [N 2sdit

Describe analytical procedure for determining optimum condition with two

variables.

<

6l UEl A HesaH, [Fafd 58l 5ol W2 [Qsamuiens wsin add

The annual direct production cost for a plant operating at 70% capacity
are Rs. 2,80.000, while the sum of the annual fixed charges, overhead
costs and general expanses are Rs. 2,00,000. What is the break-even
point in unit of production per year if total annual sales are Rs.
5,60,000 and the product sales at Rs. 40 per unit? What are the

annual gross earnings for this plant at 1007 capacity?

70% $URLEL uR 514 S 5L @i <l s 24 Geulsd v 280000 3l €.
etlR. Aly Sl vizliAl, 2SS VR daL A1 V1L 200000 3ulal . sxi
GuRisd Gusy i 4eilz £2 40 3l win dul Ay G <l sa 5% 560000 sin
Al 85 Had UiH2 Yedlz <l Geulesddl Aediui el i waiz <l $uzilZl 100%
Al ails Al sl 526l an?

OR

The original cost of property is Rs. 30000 and it is depreciated by 6% sinking
fund method. What is the annual depreciation charge if the book value of

property after 10 years is the same as if it had been depreciated at Rs. 2500
per year by Straight line method?

3. 30000 Y [ud Hadl Hlasdd < dlslo 53 uehila sl auedq s .
osl 10 A ugl v Hlasadl ofs dey wid 2uco 3 Udl AL R @2 Al

-

U] ol Al 2AAHEUA, <AL 045 Ay UL AL $id dl, UNTE AHEA 2R Sl
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(b)

(o)

(b)

(o)

The following equation shows the effect of the variables X and Y on total
cost for a particular operation,
C; = 2.5X + 12500 + 1.75Y +10
XY
Determine :
1. Optimum values of X and Y
2. Minimum total cost
A1zl silsu iz Alss (Bl 58 B HIZ is vid A ] 2192 AU 9,
AlZl = 2.5x + 12500 + + 1.75Y +10
XY
A58l 520 - (1) 2is v A <l S2du [Z0q
(2) agau 54 [Gad
OR

The fixed cost of insulation for a steam pipe per meter of pipe is Rs. (40X4+80) per
year and the cost of heat loss from the pipe per meter of pipe is Rs. 200/X per year,
where X is the thickness of insulation in cm. Find the optimum thickness of
insulation. Also find the total cost of pipe at this thickness.

dR a@slell PEA BHt 3. (x0X+¢0) Y ard B wal oil@dsietl yds Hle?
Els Gull cauoll (et 3. 200/ X Wl add B, »2Ul X3l wcles wRell asies sl
Al uallss el e sty allul. vl wstes UR stl@stell set Buc ug slwl
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